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' t 12,18 Some Alleles Do Not Assort lndependenﬂy
' Morgan's studies showed that the genes for body color and wing size in
Drosophita are linked, so that their alieles do not assort independently.
. , HYPOTHESIS  Alleles for diffetent characteristics always assort
" independently.
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CONCLUS[O - The hypothesis is rejected These two - )
“"" genes do not assort independently, but - .
are Ilnked (on the same chromaosome). .
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Extensiori Questions 0o T~ P T

24. You have performed a dihybrid cross of plants and got the following data: 206 purple tall, 65
white tall, 83 purple short, 30 white short. = 3EYf ' Foha]

4. Using your knowledge of genetics, determine the expected outcome for this experiment.
PT Sifpx384= 210

Pr B, x 384 T

wT 3 % 3T = Ty
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b. What are the degrees of freedom in this experiment?
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¢. Calculate chi-square for your experimental data below.
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d. Does your collected dara differ significantly from the expected values? Explain.
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